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for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
SO TR el fu
(a) Mention a relationship between the

capital-output ratio and productivity of
capital.

FHA-BRATH TS SF FAT AR
S b1 7o BrEy 1|
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(b)

(c)

(d)

(e)

(9)

8A/983

(2)

What does K refer in equations used by
Domar in his growth model?

T @R gfa WIiRe IWI[ T
FNFAPR K3 9Y 2

What is meant by Gini Coefficient?
faf gz ferce B e 2

What constitutes the ‘invisible hand’ in
the classical theory of growth?

TmR AEie v e 39 Rz e
| ?

To whom is the optimum theory of
population related?

FPRYE FIOY ©F FH A0 KiGS ?

Who has popularized the concept of
vicious circle of poverty?

TR 8 5 {RTCH (I SN FRCR 2

Mention a cause of growing importance
of the technical progress in the growth

process.

T afemre SRR T IS gvgy o
TR CEy T
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‘2. Answer the following questions :

(3)

What is backwash effect?
PO -T & 7

Define economic growth.

el 3 el o |

Which sector absorbs the surplus
labour in Lewis model?

S g GG 49 B i e IR
"M ?

o4 PR Teq fa

(a)

(b)

Is there any relation of ' per capita
income with inequalities of income?

e PEER TS TR WRA R o
SRR ?

Distinguish between GNP and GDP.
5 I A F TP T TR TGS 14

- e

(c)

8A/983

What do you mean by human capital?

R e et fo g2
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®)

(4)

(d) How can division of labour be an
instrument of growth?

1y Rome SaEa 91 o7 @IS ?

(e) Mention two basic assumptions of
Arthur Lewis theory of unlimited supply
of labour.

e ¥ A TR QI SGOH 7ol A
ISy SEY I

3. Answer any four of the following questions :
5x4=20

o4 oeArd R @ vt Sea foran -

(a) Mention the characteristics of
stationary state.

¥RT T AREPTR S 9

(b) Explain with the help of diagrams the
concept of vicious circle of poverty.

foa 2R MRESR T2 5&F YRECH1 I 347 |

() Explain the basic indicators - of
development.

Ao S (fere Mot remR Tmm w4 1
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(8)

(d) What are the shortcomings of Lewis
theory of unlimited supply of labour?
| e Wi @ o Sz &
&2

() Explain the differnt types of capital-
output ratio. _ '
To-BeAm wered [ifSw oz I
1

() Explain ‘Inverted-U’ curve of Kuznets.
FEC04 Inverted-U’ (341 IR0 347 |

(g9 What are the conditions of balanced
economic development?

T-HASF T v & 2

4. Answer any four of the following questions :
: 10x4=40

Bl A R @I vt Twg forsn -

(a) Examine the appropriateness of gross
national income and per capita income
as measures of country’s economic
development.

mﬁwm«wwm{b
W W TF TR SR AT e
01
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(b)

(c)

@

(e)

8A/983

(6)

Discuss the Harrod-Domar model of
growth.

SR (FA'T-G N TG0l el F1 |

Explain the various obstacles to
economic development.

geftafos Srama fifen afSaamrgz Irm 41 |

Explain the indicators of human
development index. Why is it regarded
as a better measure than per capita
income as a measure of development?

AR T e e HCeReTR Ty 340 |
3 I SRART THIT (IR AT TR
SRS MR o S e TS I A
MW '

Explain the basic ideas of unbalanced
growth strategy. Is it a suitable strategy
of economic development for a
developing country?

PREe WA SHOR o RN IR 9|
T e SRS TAre (e @ afe

SRS ?
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(7)

() What is incremental capital-output
ratio? Give its uses and limitation in
planning.

WP TS WS yRs 2
ARFFAS (X RNGA IRTA TF HwRwel
foeam |

(g) Critically examine the classical theory of
development.

WWWWWW
2R om0 1 '
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